iz || Recurring Decimals to Fractions
i
~

= REVISE THIS
ToRIc

1 Convert 0.5 to a fraction giving your answer in its simplest form. [2 marks]

[Ox= S$-.65 §6¢...
L= (0 SSSS...
92 = S

x= 2
q

Answer 0\
2 Convert 0.71 to a fraction giving your answer in its simplest form.  [2 marks]

\O’D;(:7|-7 I 7V 7] |
x=0-7 1717 1...
°|°l>n:’+\
x=7)
aq

7

/

Answer q O\
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3 Convert 0.45 to a fraction giving your answer in its simplest form.  [2 marks]

(00x = &4 S- 4§ hgh&:...

x= 0O0-&S 4 Suy..
A9 = 4S

x= 45 &S

CC CRY

S
Answer \ \
4 Convert 0.é14: to a fraction giving your answer in its simplest form.  [3 marks]

1000 = 21%-21% 214 214 ..
=z O 21¢Lli%214 ..,
199x = 214
L= 1”‘\'

————

19

24

Answer G‘ 1 9

5 Convert 0.324'f to a fraction giving your answer in its simplest form. [3 marks]

1000x = 224 - 224 324 22Y...
x = O0.324 2242,

GAq 5 = 20y

x= D2 3 - 26 . VA
Aqd 999 10 F?

g
G

Answer
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6 Convert 0.53 to a fraction giving your answer in its simplest form.  [3 marks]

0Dx=53-23 3 173

- 10 x=

X =

S- 3% 3 33,
O-S2 222 .

X '-q/o 90 S
P
Answer \ S
7 Convert 0.124 to a fraction giving your answer in its simplest form. [3 marks]

[O00x= 124 G bbb b 4 &

(

x_‘:'—

00x= 12644 & G4 G4

O- 124 44k ...

A00x = \12

Lz - 23

A
X —= 00 225

Answer

5

8 Convert 0.4.25’, to a fraction giving your answer in its simplest form. [3 marks]

000x=423-232 32 32..

Dx=

G.232L 3232,
- 0623 L% 273

X
190 = 419
= 43
110 %
Answer qqo
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9 Convert 0.0éé to a fraction giving your answer in its simplest form.  [3 marks]

(OD0x =38 2 % 2 ¥ 3¢ 73 ..

— Ox= O0- 3 28 3F3..
x= O 018 3% 298..

A0x= 28 23 . 1

o> 23— 490 1S

e
Answer qu S
10 Convert 362 to a fraction giving your answer in its simplest form. [3 marks]

00 =362 -6 T 6 2 67 ..
x> - 62 62 6 2 ...

Aq 2= 35
x>3%94

aa
-./
Answer q(\
11 Convert 0.3i6i to a fraction giving your answer in its simplest form. [3 marks]

(0000 =316 V6 116\ \GII ...
— Ox= 2216161 161})...
x= 0-2\6V161V\06\ ..

9990x = 31s8 USY - 1579
_ 318 Zaaa  44aS
139

Answer m

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

oy @ @1stclassmaths 5

12 Work out 0.68 —0.27 [5 marks]

Give you answer as a fraction in its simplest form.

1001-03-832Q €38 .. l005=1'1-"7'77')'7
I0x= 6- ¥88%8 ... Dy= L1777 ...
x=0-6898%... y=0-2111)...
°l01. =(>?- %3: ’LC
D(,:-G :,ZS
% 350
fo 90 90
1A
Answer @
13 Work out 0.53 x 0.16 [5 marks]

Give you answer as a fraction in its simplest form.

0x=S-33 233 Du= - 66666 -
x=0-ST330... 4y=0- 16666 ...

9o =48 Wy = IS
x,‘—q‘g 131'* :‘S _—_’l_
a0 s 7 I7%

2 L= 4
4S ) &S

Answer L"S
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14 Work out 0.08 + 363 [5 marks]

Give you answer as a fraction in its simplest form.

0021=-8-9%Q¢58 .. lOOs:%]‘QZGZQg...
0x=0- 8838 ..  (0y=36362636...
x=0-08888... - y= 3636263...
0 = B 994 = 360
-2 - %0
xX = -t
a0 37
[
_{ b —-LL"
90 %oy 430
1O _‘,L-
Answer 4So
15 Work out [o.égéf [5 marks]

Give you answer as a fraction in its simplest form.

1000x. =296- 296196296 ...
r = 0296296296 ...

199x = 296
"l°\°\

'?
x = 2%XLX )..X ‘6 (____
Tx e

/

Answer 0'
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